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Table of Constants for X and R Charts

Sample Size X Chart R Chart Estimator of Sigma
(n) from R
A, D, D, d,
2 1.880 — 3.267 1.128
3 1.023 — 2.574 1.693
4 0.729 — 2.282 2.059
5 0.577 — 2.114 2.326
6 0.483 — 2.004 2.534
7 0.419 0.076 1.924 2.704
8 0.373 0.136 1.864 2.847
9 0.337 0.184 1.816 2.970
10 0.308 0.223 1.777 3.078
11 0.285 0.256 1.744 3.173
12 0.266 0.283 1.717 3.258
13 0.249 0.307 1.693 3.336
14 0.235 0.328 1.672 3.407
15 0.223 0.347 1.653 3.472
16 0.212 0.363 1.637 3.5632
17 0.203 0.378 1.622 3.588
18 0.194 0.391 1.608 3.640
19 0.187 0.403 1.597 3.689
20 0.180 0.415 1.585 3.735
21 0.173 0.425 1.575 3.778

ste: There are no D, factors for sample sizes less than 7. The d, factors are divi-

sor constants for estimating ¢ from R.
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